3. ARRIE%!

0 Wz 74

O A, wz=Ez=(lAd+ATAd) : 52 %
O dF7 Y2 : 47%
O 71ek &<, =7, 424 3%

O 2#910]
O A Zo}ol

O T

O ZrF 7F=9Y : 90 % ©|%

O 3= &3t /Y A=

O 2007, A3 F&° Fdo] /MHH. = FdE HA=x
defgau s g

O 20089 7€, =y=otdel d==obelo] % vlLima
23] Q TrujilloA] oA &7 F

O TV =ehil <He5sh7t F9uEA TV ZAM A3
om, <hFF> A TVSIoIA 20089 119 199%
2009 2€ 1947+A] g H

s}

5]

E]



O FTgrd = 37 g 201139 7€ 3= g+
= o2 FHE =% guloa ZAES duElo] &

2011 84, = ¥ F oA 7Y M A=
g}Ql San Ignacio de Loyola ti3dt 828ty AYn <l
F2 PBA ) 2Hsle FLL2 zg AAFE NHE

O

Bl Lo

O =A 2t AufE A - kA -F22 Al Al E A(2009)

O st 2t stenw, AMAd @4 A2 g2Ustn-vE =
238 et (1986), Tt st % 7157} ol sk a(1990)

O =1 “defolH AYA Fof 20127 HF&A A MH
( “12.11.14, 2n} A71E9)




